11 _polynom2 (TMNoDauwD-
JagqxP3XWUBHH5F1241S9¢2maatu)

October 27, 2020

Let m1l_subset_1 : 1=1=-0 be given. Let kl_zfmisc_1 : 1= be given. Let
vl_partfunl : t=>1=-0 be given. Let vl_relat_2 : 1=>0 be given. Let vd_relat_2 :
t=-0 be given. Let v8_relat2 : =0 be given. Let k2_zfmisc_1 : t=1=>1 be
given. Let rl_relat2 : t=>1=>0 be given. Let rd_relat_2 : t==>1t=>0 be given. Let
r8.relat_2 : t=>1=0 be given. Let vl_relat_1 : \=o0 be given. Let rl_tarski :
t=1=>0 be given. Let r2_orders_1 : :=1=-0 be given. Assume the following.

VX0.VX1VX2.(vl_relat-l X2)=(((rd-relat2 (1)
X2 X0)A(rltarski X1 X0))=(rd_relat-2 X2 X1))

Assume the following.

VX0.VX1VX2.(vlrelat-l X2)=(((rl-relat-2 @)
X2 X0)A(rltarski X1 X0))=(rlrelat-2 X2 X1))

Assume the following.

VX0.VX1.((vlorelat2 X1)A((vdrelat2 X1)A((v8-relat_2
XDA((vipart funl X1 X0)A(ml_subset-1 X1 (kl-zfmisc1 (k2_zfmisc_1
X0 X0)))))))=(r2-orders_1 X1 X0)

(3)
Assume the following.
VX0.VX1.(ml_subset 1 X0 (kl_zfmisc.1 X1))<(rl_tarski (@)
X0 X1)
Assume the following.
VX0.VX1VX2.(vl_relat-l1 X2)=(((r8-relat_2 (5)
X2 X0)A(rltarski X1 X0))=(r8relat-2 X2 X1))

Assume the following.

VX0.(vlrelat-1 X0)=(VX1.(r2_orders_1 X0 X1)<( (6)
(rlrelat2 X0 X1)A((r8relat2 X0 X1)A(rd-relat 2 X0 X1))))



Assume the following.

VX0.VX1.VX2.(ml_subset.1 X2 (kl_zfmisc_1
(k2_zfmisc.1 X0 X1)))=(vl_relat-l X2)

Theorem 1

VX0.VX1.(ml_subset.1 X1 (kl_zfmisc.1 X0))=(VX2.
((vlpartfunl X2 X0)A((vl-relat2 X2)A((vd-relat-2 X2)A((v8_relat-2
X2)A(ml_subset_1 X2 (kl_zfmisc.l (k2_zfmisc.1 X0 X0)))))))=(
(rlorelat-2 X2 X1)A((rd-relat-2 X2 X1)A(r8relat_2 X2 X1))))



